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Find the value of 'm‘ 'and 'c' of the 'following lines by
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If A= { 0 1} then venfy that (A = A

Simplify: 4/81y™"% x*
Simplify (Jg - 3:‘). and write answer in the form of atbi. .
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log® —
Evaluate 0g 128

Calculate log;xlog, 81

Simplify 2(6\/_ 3\/_

Express —Jﬁ mﬁﬁi@e@@ﬁw

Factorize

gy

wers to any SIX (6) questions. @
F of the following by factorization:

X2+ 5x+6, x*=-4x-12.

255 1

ion —X——X=X+—.
Solve the equation 705 ;
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Define absolute value.

expressing them in the form of y = mx + c.
2x+3y-1=0.

‘Define abcissa and ordinate.

Find mid-point of A(-8, 1) and B(6, ‘I)

Define isosceles triangle.
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States S.A.S postulate. EJ
If LMNP is paralleldgrar? n @%@ of ' and
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Write short answers to any SIX (6) questions.  (12)
In given diagram CD s right bisector of the line segment
AB. If mAB = 6¢m then find mAL and mLB.

C . .

In AABC. —ah:@and mAC = 480m find
%@@ mDB 5

Define ratio. .
Find the value of x in the given triangle.
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Define interior of a triangle.

Define area of a figure. e .
Construct a right angle iscsW@Mse

hypotenuse is 5.2¢

Construct 8 Ich -
mAB = @3@54.20!'[1 and mCA = 5.2cm.
W X SECTION-I &

Vote:Attempt any three questions.
Solve by usmg the matrix inversion method. @
Ix-4y=4.

X+2y=8

B 216) ' %(25) o
B ] Simpiy \/( ) @

(0.04)° .
(438 o 05 !

LGE'_)'] Use Iogarithm to find the value of o,

_ﬂ Ilfx+y 7ndx2 &n @v’e@@m

8(a)] Soveforx|x+2(-3=5=|x+2. .
(b) | Construct the triangle ABC. Draw the bisectors of its

expression will become perfect square (@)
40y = 70X +109x7 + [x=m

angles and, verify their concurrency. (@)
mAB =4.2cm, mBC = 6cm mCA =5.2cm. -

Prove that any point on the right bisector of a line =
segment is equidistant from its end points.
Prove that triangles on qual bases and of equal

r lin _ )
altitudes are equal in area g me




